PS/WPSSEHES
TR @ 1T




PS series

Precision Planetary Gear Boxes

Rotio/-; # bk i=3:1-10,000:1
Backlash/[E 12 & < 3 arcmin
Qutput torque/¥§5E ~16,000MN.m
Frame size/#RIg PS70~-PS400
ordering code 7] & HCHE/ B SRR A
PS 90 Lz - 32 - P2 |- S2 - MOTOR
MODEL | | SIZE STAGE Ratio | Mgk Backlash Output Input
ER e ik B Li: B B ] =2 e U 5 AT T
70 Li: 18048 3.4.5.6.8.10 Po: #sk®  S1: shaft X8
: Ls: S2. shaft with key HEEH HHHEATES
oy 115 Le: 2EEE 9.12.15. 16. 18. F1: s 23 splined shaft IEﬂ'ﬁh LB 55 ek
142,180 | Ls: 284 20.24.25.30.32. (P2 g | K1: Flolw Al SR =0 T A 0
Ae. 40, 48 64 ; v R+t
240, 285 L+ 4B K2: Hollow with key BiS#7
La: K3: SWpline hollow JE@&ETFL
330, 400 B0. B4, 72, 75. B0, I: Specal require APEHRER
80. 100. 120, 144, OF 3: Case mounting
150, 180, 180, 200, 1 L A
240, 256, 288, 320, OF 4: Foot mounting JiE 25 Al
J84, 512 Standard connaction if no mark

AEEE BRSO R R b

ordering code ] R Ui/ B IR ER i< BH

WPS series

Precision Planetary Gear Boxes

WPS 90 L - 64
WMODEI ZI7E STAGE Ratio | MEH: i
T T T T S
70 Li: 1548 3.4.5.6.8.10
La-
80. 115 | L2: 28R 9.12.15. 16. 18.
142,190 | L3: 3B 20.24.25.30.32 .
240,285 La: A& “:‘E""”*‘”E'*E'*
-
Mn'« 400 | [r-rere 'mh H'« TE-. ?5-. m-.
50, 100, 120, 144,

150, 160, 180, 200,
240, 256, 288, 320,
384, 512

Rotio/ ik 34 b i=3:1~10,000:1
Backlash/[=] ¥ /5 B < 5 arcmin
Qutput torque/&F ~16,000N,m
Frame size/i# % WPS70-WPS400
- Pz - S2 - MOTOR
Backlash Cutput Input
B Wit R 0 O e B R
Po: Bi®E  S1: shaft %R
S2. shaft with key B gEH eI R
P1: Wi S3: splined shaft ;ﬁfﬁ SE B TE
. K1: Hollow shaft 3¢
Pz: M | ShE IR | T
K2: Hollow with key 87 et
K3: SWpline hollow ZE@ETL

T: Special require APSEHEIER

OF 3: Case mounting

T A A
OF 4; Foot mounting JE Bk i

Standard connaction i no mark

FETRREESI S R R



PS/WPS precision planetary gear boxes technical data

PS/WPS RIFEBTERENEHESH
Type Stage PS PS PS PS PS PS PS PS PS
Bk SRS B EM 070 o 90 wes 115 yps142 06190 0240 |, 0 285 0 330 ,..400
31 22 a0 125 4010 1,050 1,830 3,178 5,043 7.500
41 45 125 260 200 1.780 3.700 6,400 10,000 17,000
L1 5:1 41 110 230 700 1,600 3,100 5,500 B,200 16,000
6:1 26 A5 130 550 1.000 2.100 4,500 7,500 13,000
B:1 18 a5 120 450 RS0 1.700 3,200 5,000 7.500
10:1 15 o 70 210 a0 G20 1,600
9:1 22 a0 125 4010 1.050 1.830 3,176 5,043 7.500
12:1 45 125 260 00 1.780 3,700 5,400 10,000 17.000
15:1 41 110 230 700 1.600 3.100 5,500 B.200 16,000
16:1 45 120 ] 00 1.780 3.700 &5,400 10,000 17.000
20:1 45 120 ] B0 1. 780 3,700 &,400 10,000 17.000
Lz 25:1 41 110 230 00 1,600 3,100 5,500 B.200 16,000
30:1 26 65 130 500 1.600 3,100 5,500 B.200 16,000
32:1 45 125 FE0 B00 1. 780 3.700 6,400 10,000 17.000
J6:1 268 5 130 550 1.000 2,100 4,500 7,500 13,000
40:1 41 110 230 T0a 1,600 3.100 5,500 B.EO0 16,000
48:1 26 5 130 850 1,000 2100 4,500 7,500 13,000
S50:1 25 fill 120 500
-Ed GE 18 ah 1210 450 &0 1,700 3,200 5,000 T.500
Eﬂ 484 45 125 2B BOd 1,780 3,700 6,400 10, 000 17,000
= GO 45 125 260 800 i.780 a,.000 &,400 10, 000 17,000
E G- 45 125 260 B0d 1. 78O 3700 &,400 10,000 17,000
_lﬁ a1 41 10 230 70d 1,600 3100 5 800 B 200 16,000
= B0 45 125 260 200 1,780 3,700 6,400 110,000 17,000
i a0 41 G5 230 70 1,600 3,100 5,500 B,200 16,000
E_ MNm 100:1 45 125 260 B0d 1. 780 3,700 6,400 10,000 17,000
|E L3 120:1 41 120 260 200 1,780 3,700 6,400 10,000 17,000
o 125:1 41 110 230 70 1.600 3,100 5,500 B, 200 16,000
ﬁ_ 128:1 45 125 20 00 1. 780 3.700 5,400 110,000 17.000
E 150:1 41 110 230 T 1.800 3.100 5,500 B.200 16,000
= 160:1 45 125 260 00 1.780 3,700 5,400 10,000 17.000
E 180:1 41 110 230 00 1.600 3.100 &,400 10,000 16,000
2‘3' 200:1 41 110 230 Fad 1,600 3.100 5,500 B.2D0 17.000
240:1 41 110 230 Faa 1.6800 3.100 5,500 B.200 16,000
2581 45 125 | B0 1.780 3,700 6,400 10,000 17.000
J20:1 41 110 2a0 4] 1.600 5. 100 5,500 B,200 16,000
J84:1 26 65 130 550 1,000 2,100 4,500 7,500 13,000
512:1 18 55 120 450 R&0 1,700 3,200 5,000 7,500
500:1 45 125 F60 B00 1. 780D 3.700 6,400 10, 000 17,000
Ga00:1 45 125 260 Bad 1,780 3,700 6,400 10,000 17,000
F20:1 45 125 ZE( 200 1,780 3,000 &,400 10, 000 17,000
fai:1 41 110 2ol Fad 1,800 3,100 5,500 B, BO0 16,000
B00:1 45 125 260 B0d 1,780 3,700 5,400 10, Q00 17,000
800:1 41 110 230 70ad 1,800 X900 5 800 B, 200 16,000
1,.000:1 41 110 230 7o 1,800 X100 5 00 B BOO 16,000
e 1,.200:1 41 110 230 7od 1,600 X100 5 &0O0 B,BOO 17,000
1.536:1 45 125 260 200 1.780 3,700 6,400 10,000 17,000
1.600:1 41 110 230 700 1.600 3,100 5,500 B.2O0 16,000
1.820:1 41 110 230 7o 1,800 3,100 5,500 B,200 16,000
2 0481 45 125 260 200 1. 780 3,700 i,400 10,000 17,000
2. 560:1 41 110 230 Faa 1.600 3,100 5,500 B, 200 16,000
3.072:1 26 G5 130 550 1.000 2,100 4 500 7,500 13,000
4 0861 18 55 120 450 BE0 1,700 3,200 5,000 7.500



PS/WPS precision planetary gear hoxes technical data

PS/WPS RIIFBITEREMMEESH

Type Stage/5I5E FR¥
PS5 PS5 PS5 P5S PS5 PS5 PS PS5 PS
Data {EEES B WPS 70 WPS 90 '-'-I'F51 15 WF51 42 '-'-'F51 Bn WFEZIM} WFEZEE WP533B WPE'EW
e e | Nm 1.5 fimes T2N 1548 H4E
e | Nm 2times T2N 2 EHIE
Froaecior 10,0000
oty M 265 450 1,240 3700 G500 | 10,500 15000 | 17,000 | 28500
Fa;&“éH?ﬂm"' M 230 430 1,000 | 3500 | 5000 | 10,000 | 12,000 | 15000 | 20,000
Torsiona| Tgidey | im_ 18 4.8 1 a5 70 125 218 350 550
Hi“;.'cr@fh 'flfd rpm 8000 | 6,000 6000 | 4,500 @ 4,000 3500 | 3,000 | 2,500 2,500
Averacs inpul spesad
5 mﬁf\iﬁé i 4,000 3,500 3,500 3 000 2 500 2 000 2 000 1,500 1,500
Moigo Pa dBIA) <5l <M P i) <70 < 7d <75 <7TH <80 <80
BE ﬂF’S <] =B3 P iti] <75 <TH <80 =80 =82 =82
A‘“‘E‘{Egjﬂﬁ L h 20,000 10,000
F”ﬂiﬂrﬁﬁ‘ﬂ;‘" Ioad 16 =06% DF =049, 3 =90%
= L+ <=3 =3 <=3 <3 =3 <3
Py 5 Lz <5 <5 <5 <5 <5 <5
o L3 i i <7 S <7 i
= L =5 =5 =5 =5 =5 =5 =H =8 =8
a | P § Lz =7 <7 <7 <7 <7 <7 =10 =10 <10
b 8 | Lz <8 <9 =0 =3 =0 ] <15 <15 <15
= [= L+ = F = F =7 = =7 =F =10 =10 =10
] Pa E Lz <3 ) =4 =3 =3 =3 <12 <12 <12
ol W La =11 <11 =11 =11 =11 =11 <18 <18 =18
- E L 1 <5 =5 =5 <5 =5 5
= Po | B Lz <7 <7 <7 =7 <7 <7
x o La <0 =5 =0 =g ] =0
E = c L1 <=7 =T <7 <7 i <F =12 <12 <12
u | P § |[L2 <8 <0 <0 =3 <8 <0 <15 =15 <15
i & La3 <11 <11 =11 <11 <11 =11 <18 <18 <18
E Li =10 =10 =10 =10 =100 =10 =14 =14 =14
P2 £ | Lz <12 <12 <12 <12 <12 <12 <18 =18 =18
% | La <14 =14 =14 =14 <14 <14 =20 =20 <20
a:1 0.135 0.77 2 B3 12.14 28 08
4-1 0,093 0.52 1.79 T.78 23,67 32,856 40,2 75.1 251.6
L1 | s:1 0.078 0,45 1.53 8.07 23,20 | 28,71 39,9 73.4 243.0
(| 0.075 0.42 1.44 5.24 22,75 27.03 36.6 T0.9 232.4
2:1 0.065 0.39 1.30 4.63 20,51 25 6O 4.5 82.5 205.8
10:1 0.063 0,39 1.28 4,60 20,51
& 15:1 0.0329 0,72 2.40 7.47 16,50
: 20:1 0.0449 0.35 1.80 £.85 0.35 14.35 18.80 24,00 55,30
= L, | 2501 0.039 0.25 1.40 6.65 9.00 12.44 18,30 23,20 52.10
x . 3241 0,038 0.18 1.40 5.81 B.75 12,44 16,756 23.20 52,10
m
1: g 40:1 0,027 0,18 1.30 581 B.75 11.35 16,60 23.20 50,08
E = G 0.027 016 1.30 .28 B.10 11.35 16,680 23.20 50,09
< 60:1 | 0030 | 028 | 157 6.85 | 6.02
E B0 0,039 0.25 1.38 &5.10 5.92 14.27 17.73 24,73 40.75
.
= 100:1 0016 0.25 1.35 570 6.55 143,31 14,85 19,75 38,60
| 1601 0.018 0.18 1.35 K.55 6.55 9,42 14.80 18,70 a6.50
® 200:1 0,016 0.18 1.30 532 6.55 8,20 13.75 18.50 32.B5
286:1 | 0,018 0,16 1,30 5.21 6,30 8,20 13,75 18,50 32,85
201 0,016 .16 1.25 6.15 6,30 810 13.256 18.50 30,71
512:1 0,018 0,18 1,20 515 8,30 7,08 10,80 15,45 28, 85
L1 0.93 2.35 6.15 19,00 31.00 0 113 145 2510
= pa Lz 1.15 270 2.00 24,00 42,00 gE 138 190 340
IE La 1.35 3,20 10.00 20,00 50,00 06 140 215 360
lf " L4 0o 148 210 a75
ﬁ} L1 4.0 7.5 13.5 26.5 50 a5 143 185 3040
ﬁ L2 4,7 8.7 16 29,6 651 103 1686 230 200
WPS L3 5.5 9.5 18.6 32.6 70 121 170 255 410
L4 124 178 250 425
{Wjkeans:alowing radial foros and meal faree ot functon in output central place when outpul spesd is 100 rpm, (1195 N W 0oeprmdE AR EFNE bR rEREEm e .
121 Thi waight of maducar ir Sk boek ik approximation e praclical @ dapend or tha lnlgned predu, (el E N NE AR NN TR, Y EREL SR,
13 Thie trermars al inartis ralates 1o the radla, fame, iPpul sha' and to stardand mebar ahafl . ais, EEEEE MR, SRR EER. EARESEEEETR, el

S A,



PS70-P5190-0P2 motor mounting dimensions

PS70-PS190-0P2 EIRER A B RERT

Other shaft i P a[iBE RS LEAE

& S1 shaft i
S I
g i . J—E
z L
2 ki hollow XA serEx
:& —
xR
3 (W
Type stage PS70
ISR B
Size/R 1 2 3
A1 [] 65
Bi 5
1 M&X12
H1 18
¥ D1 o 70
ﬁ' 02 4% D55
g 03 @ hé 14
| D4 o 17
% Ds | @h7 50
E_ DB O R
3 L1 25
= L2 4
E L3 30
L4 35
L5 3
L&
L7 ™= 40 B0 L]
La ™ 115 | 135 155
A2 rmotordR HE AL
= B2 motord 5§
E Ha2 5 motorks 8 § L
ﬁ D11 £ ’1?& molori 8 L
% | p | S % molord i F 4L
'-é D31 Fg E motori i f 4L
= 051 < & motoris 28 g4
.‘,g' L41 molorfi i\ il
= L51 motordd §# f 4
L1 motorii L

input i K IR A input SR
LS PSAD- 130 EPER
L6 L7 L4 D21
L3 1 E. 22
_L_V!_ ’ﬁ +— & i~ R)
234 +-@4.— D A
INS=Z4 I N
i P et
A2 Az
211 311
Sz shaft with key Bl S3 splined shaft {£8% S1  special shaft 5
r,i P | ] _F_ According to customers
| I RPERBE
| U
kz  hollow with key BEiRAIL k: splined hollow FERAF  kt special hollow F&EIL
_J ) ] Accordi
e ceording to customers
- T‘{_j$L RPEREN
PS90 P5115 PS5142 P5190
1 2 3 1 2 3 1 2 3 1 2 3 4
BS 115 142 190
B B 12 14
MEX15 M10X22 M12X25 M20x42
22.5 28 43 53,5
100 130 165 2158
N TEL 11 D135
20 25 40 50
25 35 G0 2
70 g5 130 180
87 115 140 180
25 40 &5 70
4 5 .5 5
a6 50 BD BOD
40 =1 By 20/104
3 4 b G/20
10 14 20 20
25 74 103 74 104 1345 | 85 134.5 [173.5 1323 17651625 2160202 | 30d.52.5
148 172 196 194 229 |2085 274 |313,0 302,50 | 319 | 385
motordd 8 /A AL maotordR 85 motordd i 4 motordR 85 FE L
motoriil # f rmotorddl 85 A rrotordd 5 B 4N matorsf i B
motorfl E B maotoris 8 B motoris 5 maotorik 55 E
moloriE §E @A malors & et rER £% LA miatorsi 8RB
motorid I8 R AL matordd i rratordd i /4 motorsf 4 FE L
motoridl # S oo 85 rmotordd B8 5 4N matorif # B
motorf  EH motoris & B motoris £5 matoriR 55 B
molorfE 6 A el rEs B E melorEs 85 01 4, malarsR &8 040
rmotorid IE R4l rmatordf i i rmatordd i /4 matorEi 4R fEHL
motorfl e i motordl B8 B rmotor i B B 4N motordE 85 B

(1dimensions refer to the mounted motor—type the size can be changed
[2)dimensions refer to the frame of tha boxes the size can be changad

(NEESNARMERRNETN EERTT A R
(FUEEgMENERASERAGN EERJTLIE L



PS5240-P5400-0P2 motor mounting dimensions

PS240-PS400-0P2 BB IMERERT

input SRR A input ${ BIWEA
ouput/ i H i P5240- 40042 wrER
L
61, L7 K] D21
| | L3
|
H . 1 [ L2
o !_ : i 1.I 1 e
| 2| e O Sy
1 1 L
tL-f ot N\ C1
1

[
= E
E -

5

|

Other shaft AP AEEARHEAT

{1idimensions relar 1o the mounted motor—type the size can be changead
(2jdimansions refar to the frame of the boxes the size can be changed

E - S shaft 3t S2 shaft with key E#& S3 splined shaft & St  special shaft 55Rk#
u ; i i L
é‘ - 2 __% fll "IEE‘ ,“'ll "IEE’ A:curﬂ r;g;:;;sf;umer:
o \ : \ \
E k1 hollow £H I isesrE kz  hollow with key E@HI.  k:  splined hollow @AM ke special hollow BT
=
; . s :Eé_ a1 12 . According to customers
g ( | % | % A P ER B
= R
T“”Q;“&; PS240 PS285 PS330 PS400
Size/RT 1 2 3 4 1 2 3 4 1 2 3 4 1 2 3 4
A L 240 285 330 400
B1 18 20 22 25
1 M20x42 M24XE50 M22XE0 M24X50
+ H1 (512] T4.5 8BS a5
[ ) I 265 315 arn 425
ﬁ b2 4x 18 i ] o 22 Q22
& oo 2 hé i3 70 RO a0
W D4 @ 75 BS 90 100
E 05 o hY 225 250 200 350
g | L 85 g5 100 125
é L2 7.5 7.5 10 5
g |13 100 10 120 135
2 L4 125 135 150 165
L5 20 20 25 25
L 25 25 25 30
L7 ™ 16825 217 A5 355 182 254 | 3475 402 201 2685 3755 4375 | 26B5 | 331 (4475 | 5125
La" 348 | 416 | 473 | 525 400 | 486 570 | B3D 4589 | 545 | B39 | 655 538 | 640 | 745 | BOS
A2 motorid $E H # motordR motorid #E B E] motor#i Bl
= B2 motori §E R Al molardi iR R molorfl SR R EL motor#i §E Al
E H2 s motordl i B8 motoriR SN motorif 3 H 8 mctordE R AL
ﬁ D11 E iiTE" mictori #F &L motori 5 ML motord S5 E1 motorsRiE Rl
# D21 % % motord # /i 4 motordi i@ motord # fE £ motor#fi {8 AL
% | D3 T & motorkR 2 E motordR L motoris 35 B El motor#i E B
£ | psi E—‘ ﬁ molorfiE R AL motordi iR R molorfl SR R EL motor#i & Al
-E L41 rotoril 3 /N motoriR SN rmotoril 3 H 6 motoriE R
= 51 motorfR 5F HEl matordE R L motoriE 25 L E] motorFR HE AL
L1 motordl 4T 4 matordi 15 B motoril 45 /6 motor i 8 Rl

(EESNERAETSONNA M SERTElIEE Y
(2EESN e daARSEEN EE R el



output / BH

5 o1

PS70-P5190-0P1 shaft input mounting dimensions

PS70=PS190=0P1 By NEh B SM R EER T

Other shaft P A[EE N HHET

output hollow output shaft

Type stage
RISk

Size/RT

Al

B1

1

H1

01 @
D2
03 D his
b4 @
D5 O h7
i ]
L1

L2

L3

L4

LS

L8

et

Lot

Az

B2

c2

H2

D11 @
D21
D31
D41
D51
L11
L21
L31
L41
151
L&1

Gear output! JRiFEH S HIER <

nput'/ Wi AEERT

e

shaft &8

40
115

PS70

G5

M5x12

&0
135

65
2

MA4X10

11.2
70

M5x12

10
17
50
156
3
21
25
2
23.8

Lot L
Otlhey, v [
E?\_F_.L_'.'H - gH_/m
\ /
555 EEE
L
Pl LS
—o| |LE
L3
Sz shaft with key i@ S1 splined shaft @24
( = =
1 II ]
k2  hollow with key BRIl k: splined hollow FE&EA L
.=
'.._—_
PS90 PS115 P5142
3 1 2 3 1 2 3 1 2 2
85 115 142
B B 12
MEX15 Mioxa22 M12X25
22.5 28 43
100 130 165
TE.S D85 11
20 25 40
25 35 &0
0 g5 130
By 115 140
25 40 B85
4 5 5
S8 50 80
40 1 87
a3 < 5
10 14 20
8D ab 79 103 T 104 |134.5 B |[13456173.5
155 (148 | 172 | 196 |209.5/239.5 270 304.5 344
85 115 142
5 G 10
PpEX12 MEX16 M12X25
18 £22.5 28
100 130 165
MEX15 MEX18 MI10X22
16 20 35
25 35 85
Filt R 130
20 30 45
3 5 Fi
26 40 58
30 45 65
2 4 5
2B.8 355 arla

[1idimensions refer to the mounted moter—iype the size can be changead
(2ydimansions refer to the frame of the boxes the size can be changed

—

g

)
P

/%
St
A2

input [/ A

221

N
i
&

H2

R
H
-

D11

St  special shaft $j5#H

According to customers

AP EREE

kt  special hollow $Fi& Il

According to customers

AP EREE

PS190

1 2 3 4

180
14
M20x42
83,5
215
13,5
50
70
160
190
70
5
a0
80/104
6/20
20
13TM231T6.510625 216/202 (30,5004 5

J83 354.5 394

180 142
12 10
M12X25 M12X25
43 38
215 165
M12X25 M10X22
40 a5
1] 55
160 130
50 45
A5 )

G3 o8
70 65
5
BP0 Bih

(EESNERAERSNTWOM EER TS
(2)EE SN RN SRR N e R T AR



PS 240-PS400-0P1shaft input mounting dimensions
PS 240-PS400-OP 1§ N BB X, 5p 2 R ER T

output / B§ 4

Other shaft [ P oS3 MK AR

E S shaft 52 shaft with key Eilsh Sz splined shaft £l
=
R =% -
= | M [
_E k1 hollow AL iseerx kz  hollow with key BRI k3 splined hollow ZERA I
=]
1= [ e )
3 B 1 e | R Ja
E | S | I\—_I_
T’-""Eﬁ“ﬂ‘n PS240 PS285 PS330
Size/R 1 2 3 4 1 2 3 1 2 3 4
Al ] 240 285 330
B1 18 20 22
C1 M20X40 M24 %50 M24X50
+ H1 i34 .5 E5
¥ | Di @ 265 315 a7o
= b2 4 % @18 o8 @22
g 03 @ hi 65 T a0
= D4 @ 75 A5 a0
% 05 & h7 225 250 290
= L1 B5 a5 100
% L2 7B 7.5 10
E L3 100 110 120
- L4 125 135 150
Qs 20 20 25
L& 25 25 25
L7 162,58 217 315 355 192 | 254 (3475 402 201 2685 3755
Lg" 4855 510 @ 567  BO7 | 528 580 B40,5 581 B47.5 7265
A2 240 190 2B5 240 330 285 | (240)
B2 14 12 18 14 20 i8 | 14
c2 M12X25 M12X26 M12%26 M12X28 M16X35 M12X26
= Hz B35 43 G 53.5 T4.5 64 | (63.5)
= D11 @ 285 215 a5 265 370 315 | (265)
EEFE 021 43 M16X35 M12X25 M1BX35 M16X35 M16X35 M16X35
i"{ D31 o hé 50 40 B0 50 70 G0 (50)
-3 D41 o] B0 55 ] G0 B85 7h (B0)
= BEY @ h7 225 160 250 225 290 250 | (2258)
E 11 &0 50 70 &0 B0 70 | (B0)
= L2 B.5 B.5 5 5.5 5 5 | (B.5)
L34 7 63 B0 ra LT B0 (73}
L41 B3 Fit a0 B3 100 a0 (R3)
L51 ] 5 ] B ] B
L& BS 57 111 A5 125 111 | (85)

D&1

{1dimensions refer io the mounted motor—type the size can be changed
(2ldimensions refer to the frame of the boxes.the size can be changed

input / B8

St special shaft 558k

According to customers

AR EREE
ke special hollow $B L

According to customers

AP EREE
PS400
1 2 3 4
400
25
M24X50
L]
425
©22
a0
100
350
125
5
135
185
25
a5
2585 331 4475
§77.5 750,5 8375
£00 220 (2RBE)
22 20 | 18
M18X325 M16X35
85 745 | (Bd)
425 aT0 | (315)
M16X25 M16X35
B0 70 | (60)
100 B5 | (75)
A50 200 | (250)
oo 21N (70}
7.5 5 (5)
105 80 | (BO)
117 100 | (905
10 2]
130,5 125 |[{111)

(EESNANARERADETE 5% R TR e
()RS0 ISR N BERE R EE RS e



PS[ |K hollow output mounting dimensions

PSLIKZ s FLEMNH SMER T

PS[ k1

hollow XA FLSMEEIREE)

‘@,

\@
H\Jf
”xﬂ ) fﬂi—’

Type stage
B Ew FS190K FS240K FS285K: FPS330K PS40k
Size R
D3 OHT & B5 BG5S Fi 80
D4 fii] 70 75 85 a0 100
L1 mim Bl a0 ag ad 100
L3 mm 70 100 100 100 120
Other ziza is as same as PS series BERSTHEPSEANEER G-
- [-1-]
PS[ k2 hollow with key E& R 7l
L3
o gl L1
%/ *t'i
.'I \ J m- E
L I_. @j |r D[
N
Type stage
Rt Wik B PSTOK: PSO0K: F5115K: F5142K: FS180kKs PS240Ks FS5285K2 P5330K: PS400Ka
12
B1 i a 5 & 10 14 14 18 20 22
H1 Friim 11 4 17 228 28,3 53,8 kB B GEA fd R Ak 3
] OH7 10 15 20 a5 &) ab £5 Filb 20
D4 ii] 19 30 40 b5 it Fii=: 8BS £ 100
L1 Mim 2 z2 P 3 3 5 5 ] ]
L3 mim 20 30 38 B0 Bo B0 BO 100 130
Other size is as sams as PS series HERTHPSETERR w4 —5
PS[1k3 splined hollow £ R 3L
L3
R D= [MNTaz ¥ bm % 30:/7H
—_— — _.u"
': E—IE E :‘- o =t
: T G
i % " L===sk
- T H
Type stage
W B
Size R F5180Ka PS240Ks PE285Ks PS330Ka PS400kKs
D3 INT202X2m(300CTH IINT252X2mX30rXTH | INT202X3mX30r7H  INT252X3mx30rTH  |NT202X4mX 30X TH
D4 o T 5 BA 2 18] 100
L1 mim 5 ] 5 H o]
L3 nalia] Bl Bl B5 70 80
Other size is as same as PS series RERTHPSENSERYRES—H



PS-0OP3 box mounting size

Type stage
BE BW

Size R

30 i
HaO mm
L3g mm
L31 mm
La2 mm
L33 mm

Other size is as same as PS series HERYHPSEV{ER R S+—i

35

PS70

10

PS series mounting dimensions

PSH 5! B LM R

D30

S—

40

PS90

— 31

B35

8
15

L30

P&11E

M2
675
78

56

16

HREERERT

PS-0P4 foot mounting size JERREER

Type stage
b e

Size R~

D40 o
D41 o
Ha mm
L40 rmm
Ld1 mim
L42 iy
L43 mim
La4 mm
L45 mim
L48 T m

PST70
1 [ =2 | 1
.5 8
11 15
&y &0
24 110
485 70 49
o 10
68 10,5
12 15
100 130
g2.b5 BG G54

P390

A5  fAb 111,65 102

Other size is as same as PS sories HERTHEPSRY| MR < wa—2

Mote: |f no, then according 1o customears

= Bt
| La4 i
H4 |
P3115 P5142 F3180
=2 1 = 1 =2 1 =2
8 g 11
15 15 18
2.5 a6 113
135 165 216
7 BB O9G | B2 | 123 (876 145
10 10 12
10.5 10,5 11
15 15 18
155 185 240

143 1215 188

i 2 8 8
[ L32 |
PS142 F&180
=2 1 =2 1 =2
ME M0
71 85
108 132
78 120 BO 128
10 10
16 20
@ &
3 —&} 3
L] Il_
L41 La2
L46
F3240 FS285 FS330 FS5400
1 =2 1 =2 1 =2 1 =2
13 13 18 18
20 200 25 28
150 170 200 240
265 210 260 430
130 | 180 | 150 | 200 180 | 230 200 260
a0 a5 A0 40
13 13 17.5 17.5
an 27 .5 a5 4]
300 350 420 480
180 240 220 270 280 310 2BO 360

i FPEROEOTEAERRE, FTEEEE. B2 T 5 R Rk e i % S L o/ B0 38 R T



WPS70~-WPS400 OP2 motor mounting dimensions
WPS70~WPS400 OP2 BE#EZERNRIMERER T

D51 #r input KA
ETE]
ET f Le L4
- |73 c1 a%
| e D11 (¥ ek il
| s Ve —la
T 1T [ 7 8| ?UE@// J—
i = 1._%*;'& I -#) =g
: L8 L7 LS
Al L9
S| i (.
Other shaft P ERTOELRR
ﬁ‘: - 51 shaft Ft#h 52  shaft with key Bl 531  splined shaft FEil88 5t  special shaft 1%
E | | l According to customers
X . f lﬂﬁ ( %ﬂ A ARSI
[=} Y . | T I".—
E k1 hollow EAILsemEs kz hollow with key ERAF.  k:  splined hollow JERAF.  k+  special hollow $8EFL
T E , ——
E. = .f" N g __{'_ - ‘%7 - % According to customers
.?: | | i A PEESE
T""‘ﬂ‘;; E:;u WPS70 WPSS0 WPS115 WPS142 WPS190 WPS240 WPS285 WPS330 WPS400
Size/ R~ 1|2|3|1(2(3a(1|2|3}1|2(3|[1|2(a|a|1|2|/3|4|1|2|(z3|4{1|2(3|4]1|2/3/4
Al ] 85 85 115 142 180 240 285 330 400
B1 b B 8 12 14 18 20 22 25
1 MEX12 MEX1E | M10X22 | M12X25 M20K42 M24XE0 M24XE50 M24X50 M24X50
H1 16 22,5 28 43 53,5 it 74,5 85 a5
b i 70 100 130 165 215 265 315 370 425
gé D2 4x D55 DB5 T &5 $11 D136 i 18 22 22
H D3 o hE 14 20 25 40 50 G5 70 B0 a0
% [h4 o 19 30 35 Bl 70 75 85 a1 100
% DS D h7 50 70 95 120 160 225 250 200 350
= D6 [ B4 a7 115 140 190
£ wu 25 25 40 B4 70 85 95 100 125
f L2 4 4 5 5 5 7.5 7.5 10 5
E 13 a0 36 50 80 80 100 110 120 135
L4 35 40 55 a7 a0/104 125 135 150 165
LS 3 3 4 5 G20 20 20 25 25
L6 g 100 14 20 20 25 25 25 a5
L8 75 103.6 125.5 1512 205 205+ 205+ 205+ 205+
L7 15 40 |60 | 80 |55 | 79 103 | 74 | 104 1345 55 13451725 L0 oM 6N DAME 1625 17 | 315 355 | 192|254 3475802 | 206 272537554375 265 338 44755125
Lg " 115 135 155 148 172 108 5452845 315 SI20727 6107 482 N3 511 a0s
A2 MEEl motor | EiRAEH] melar ¥l 4 FE &L motor i i e A maolor it B FE 4
B2 HE R motor | E{EAR molor Em motor REDE motor R my
ﬁ H2 = i wiEsN mator | MBI motar REEa motor mEna motor RERN
ig D11 ‘E':'-' wEsEmn motor | BB rotor HERLN motor i1 motor RiEsRy
F o2 2K WEEN | moor | AEAN | motor R motor 15 4 motar iR 4
:E: D31 Z'§ % RiEEN motor | EUEAL malor WEME motor fREmEl matar RiEsEN
= | DSt < E  pEan motor | IR motor RERA motor iREHH motor REmi
*E L41 RESN mator | EiEE mator \R 8 A motor EEsH mator BEsEN
= T8 RN | motor | BERM motor ¥ P motor 2 4 L 41 moter 16 4 i 41
L61 R E motor | BURRHL | motor REEA LN mator a4l maler RN
{1)dimensions refer to the mounted mator—type the size can be changed (iFESmTEEMEESENENEN B Rl med

(2\dimensions refer to the frame of the boxes the size can be changed (RSN RS ARSI S R RT R e



WPS70-WPS400 OP1 shaft mounting dimensions
WPS70~WPS400 OP1 S &R U SMERER T

output BN Ei: input BA
1-[ ._ [E
Al |- |
—| ™ r - E A-
= 2
S E EH %
~ . m | |w o | ‘(O | ‘E
|- ] —[——-—— o |a o x| 1t "‘»__@_/I il 1
; N i
| J—;;\ ¥ |
L8 L7 | LS o
L9 =

Other shaft P[RS M HSED

E o 51 shaft £#f 52 shaft with key 5 @i 81 splined shaft 3& @ik 5t  special shaft FiiEie
w I 5
5 II Il P :IJ%_} According to customers
2 — - ( e
5 | APERFE
L | —
E k1 hollow ¥l sesss k2  hollow with key E#MI.  k:  splined hollow FE@#HBF. ke special hollow 5557
:E e E—
= —#'I . _‘.,_'_ - % According to customers
g™ . % | RPERHE
3 \ \ :
T‘I’P';““ﬂﬂ:! WPS70 WPS20 WPS115 WPS142 WPS190 WPS240 WPS285 WPS330 WPS400
Size/ R 1123/ 1(2(3(1|2/ 31121311 |2|3|4/ 1|23\ 4(1(2(3|4(1(2|3(4|1(2|3|4
&1 ] Fit 10 115 142 180 240 285 330 400
E1 5 B B 12 14 18 20 22 25
Gt M&aX12 MEX15 KMi0x¥22 M12X¥25 M20X42 M24XE0 M2 K50 hM24X¥50 h24 M50
H1 16 22.5 28 43 53,5 (1] 745 85 85
L2 () L} 70 100 130 165 215 2685 315 370 425
% b2 4% 55 G5 L85 Pl i | D135 D18 o118 o222 o222
- D3 O hi 14 20 25 40 a0 G5 L B0 80
e D4 i 19 30 35 &0 70 75 85 80 100
51 (S &h7 50 70 a5 130 160 225 250 290 350
% Da I G4 B7 115 140 190 - - — -
= L1 25 24 40 G5 FiLl] a0 100 110 125
B L2 4 4 5 5 5 5 g 5 5
3 L3 30 38 50 BO BO 100 110 120 135
:‘E L& a5 40 55 BY QnM04 125 145 150 165
{g LS 3 .| 4 o B0 20 20 25 25
Ld B 10 14 20 20 20 2o 25 35
L& 75 1038 125.5 151.2 205 205+ 205+ 205+ 205+
LT= 40 (B0 | BO (55| TE (103 | ™| 104 1343] 85 1345 1735 108 RIS 00 WSS 1625 217 [ 315 355 | 192 2543475 (82 | 206 IT.AEThE 43N0 2o 3W 4475|5126
La 115 135 1685 148172 | 19 (25452846 115 TIX23707|411, 7432 47115 =71 |6l 5
A2 FiLH) 200 1156 142 180 142 241 1890 2Bh 240 330 2B5[240)| 400 |330 (285
B2 3 5 8 10 12 10 14 12 1B 14 20 18 14 22 20 18
i H2 11,2 18 22,5 38 43 | 38 | 535 43 64 | 53,5 74,5 64 (535 85 [74.5 (8d)
-f;- D11 i 70 1040 130 165 215 | 165 265 | 215 215 | 2685 | 370 3152651 425 370 (315
| D21 4x MEX12 MEX15 MEX1E MTOX22 MI2X2SMI0X22 M1BXI5 M12K25 M16X35 MIGXISMIBX3S MIEXES M1AX35S M16X35
ﬁ D31 10 15 20 a5 40 35 50 40 | 60 | 50 | 7O |60 (50) 80 |70 (50)
3 (DL 17 25 35 oo ob 20 B0 o5 Fit=] GO0 B5 TS (060} | 100 | 8BS |[7H)
E 51 T H il Ha 130 160 130 225 180 2450 225 290 250[235)| 350 |2%0 (250
E L11 15 20 a0 45 50 45 il 50 il il BO | VO [(B0) | @D 80 |70y
= L21 3 3 5 7 8.5 7 55 | 85 5 8.5 5 |5 @si| 7.5 | 5|5
£ L3 21 28 40 58 B3 | 58 | 73 | 63 | 80 | 73 | ©0 |80 (73 105 |90 |[80)
= L41 25 30 45 G5 ik 65 B3 70 a0 83 100 (80 (B3| 117 (100 (90)
L51 3 3 4 2 5 B 5 B 8 8 E 14 8
L&1 23.8 28.8 38.5 46.5 57) 46,5 B5 &7 111 85 125 (111 (85} | 1305 {125 [111)
L7 TG 103.6 125.5 151.2 213 213+ 213+ 213+ 213+
{1)dimeansions reler lo the mounted motor—ype the size can be changed (INESENTHFERSNLEER SRkl aeey

{2)dimansions refar to the frama of the boxes the size can ba changed (2)EEaN RS EMANSEEN. BRI EY



WPS[_K hollow output mounting dimensions

WPS[IKZ i FLE HSME R T

WPS[ k1 hollow R ILISMEIREE)

| 3z
Type stage
HIGE e WS G0k WEPS2408K) WEPS285K) WES330K: WPS400K:
Size R
23 oHYT 50 55 G5 70 Al
D4 @ J0 Fil=] Ba ai 100
L1 mm Bl a0 a0 aq 00
L3 frim J0 100 100 100 120
Other size is as same as WPS series REERTHEWPSETBERYT£—H
" (-1-1
WPS k2  hollow with key Ef#H 7L
L
] L
— L ™ =
2| B

sta
= R;1'H!t“l£‘ WPST0K2 | WPS90K:z | WPS115Kz2| WPS142Kz2 | WPS180Kz | WPS240Kz | WPS285Kz2 | WPS330Kz2 | WPS400K:
ze

B1 mm 3 5 & 10 14 14 18 20 22

H1 mim 11.4 17 22,8 38.3 £3.5 8.5 Go 745 BS

D3 D H7 10 15 20 35 50 55 65 70 BO

D4 i 19 ao 40 &5 fo 75 BS a0 100

L1 mm 2 2 2 3 3 5 5 = 5

L3 frrm 20 a0 a8 &0 B0 8O BO 100 130

Othar size is as same as WPS serias HERTHRWPSRNER®RR TR E—H
WPS[1k3 splined hollow f&£#&H %l

W D3=|NTaz X bm X 30r7H

Type sta
e ot wis fm WPS100Ks WPS240Ks WPS285Ks WPS230Ks WPS400Ks
D3 INT20zX2mX30rXTH  INT252X2mX30rX7H  INT202X3mXa0rkyH | INT2523mXa0rrH  INT20zXamX 307 H
[24 @ 70 75 B5 a0 100
L1 T a 5 5 5 5
L3 - B0 B0 85 70 80

Otner siza is as same as WPS serias BEeR-THEWPSENERR TR E—5



Type stage
BITH W
SizeR

D30 @

H30 mm
L30 mim
L31 mm
Laz2 mm
L33 mm

Othear size i5 as sama as WPS saries

WPS series mounting dimensions

WPSE S EXMER T

WPS=0P3 box mounting size FHERBRERER-

34

WPST0 WPS90
=2 1 2
MG M2
a5 45
52 60
515 40 B3.5
& B
10 15

WFS115
1 =2
ME
57.5
78
56 90
g
16

HERTRWPSRAIEHRTRE—H

WPS=0P4 foot mounting size JEM#=TER T

H4
L40
L41

L4z
L43
L44
L45
L46

iOther size is as same as WPS series

Maote: |t no, then according to customers

mim

mim

mim

mim

46,5
B
6.8
12
100
62,5

7o

26

WP390 WP5115
1 =2 1 =2
B P
15 15
B0 T2.5
10 135
43 | 776 675 | 915
10 10
10.5 10.5
15 15
130 155
B8 975 775 1115

165
B2
10
105
15
185
102

123

143

WFE190

11
18
113
216
145
12

87.5

11

18

240
1215 169

EERTHWPSEV@ERTRE—&
il ERPHPLERARERE, TRAEN, RAFRGENARESN=EEL O NERRERTES,

7 LT E[
- |
.| 32
WRS142 WFS180
1 =2 1 =2
Mg M0
Fil | a5
108 132
7a 120 20 128
10 10
16 20
i W -
: i L] =
L41 L4z
L4&

WEPS5240 WES285 WP5330 WES5400
1 =3 1 =2 1 =2 1 =2
13 13 182 1B
20 20 26 26
150 170 200 240
2685 310 JeD 430
130 | 180 150 | 200 480 230 | 200 @ 260
a0 35 40 40
13 13 17.5 17.5
30 275 a5 40
00 350 420 48i)
180 | 240 220 270 250 310 | 2BD 380



